2
41
105 L2544 - 254 41
(GSALE) 0.2188
21.88%
(CEARN) 00987 987%
(CARW
(CPAI)
00012 0.12% 00003 -0.03%

(CWIP) 0.0006  0.06% 00023  0.23%



41
Descriptive Statistics
(N=105)
Mean Min,
CARLO14] 00131 01227  -0.3239
CARLO4| 0.0028 0.0965 -0.3043
CARt-1,1] 0.0015 008l  -0.4086
CAR[-4,0] 0.0011 0.07813  -0.5404
CAR[-140] 00147 01235 -0.7959
CEARN 0.0987 05693 -3.3228
CPAI -0.0003  0.0669  -0.7999
CWIP 0.0023 0.0183 -0.0944
GSALE 02188 16316 -23.5031
4.2
Correlation Matrix
(N=105)
CARD.14]  CAR[D4]  CARtL1  CAR[40]  CAR[-14,]
CAR[0.14] 1 0.688 0.564 0.370 0.249
CAR[04] 1 0.659 0.276 0.001
CAREL1] 1 0576 0312
CAR[-4,0] 1 0.606
CAR5[-14,0] 1
CEARN
CPAI
CWIP

GSALE

Median
0.0007
0.000

-0.0011
-0.0001

0.0068
0.007
0.0012
0.0006

0.0856

CEARN
0.076

0.077
0.227
0.102

0.004

1

Max.
0.7128
0.5797
0.5918
0.386
0.9099
5.5507
0.2325
0.1053

9.4938

CPAI
-0.105

-0.069
-0.050
-0.087
-0.067

0.051

CWIP

-0.086

-0.075

-0.012

-0.035

-0.044

-0.020

0.093

43

GSALE
0.027

0.000

0.280

0.121

0.079

0.264

-0.036

0.020

1



44

42

(CAR) (¥) W
(CEARN)I
[[L1] 0277 (CAR)
(CPAI) (CWIP)
(X) (CEARN)
(CPAI)
Cwp) 0051 -0.020 (X)
)
(Multiple Regression) 3
4.2
1
2 T-Value
0.05 2 1)
)
1

CAR = 0+ ,CEARN, + 2CPAIlI 1+ 3 ZEl+e,



, 14
4 [04] 1 [L]]
4 [40]
95% (P-value < .05)
0.074 10.052 10.033 10.015
Noreen and Shevlin (1997)  Lev and Thaigarajan (1993)
(CPAI)
4.3
14 [0,14]
95%

' -0.204

24

45

43
[0,14]

Jimbalvo,



[0,17]

12

(Expansion)

Equation)

46

9% %

12
-0.184
1
0.187
(Regression
95% ,
-2.052 ( 46 )

05% | 46 )



Stock Out Model

Stock Out Model

4



Jiambalvo, Noreen and Shevlin (1997)
lev and Thiagarajan (1993)

95%(P-value < .05)

19

-0.023

43
[0.19]

48



49

Atiase(1985), Potter (1982)

4.4
4 [04] 1 [L1]]
4 [-40]
95% (P-value < .05)
0.047 10.026 10.018

Jimbalvo,
Noreen and Shevlin (1997)  Levand Thaigarajan (1993)

(CPAI)
44

4 0418 [08] 10 [040]



9596(P-value < .05)

45
14 [04]
[-11]
95% (P-value < .05)
0.105 0.055,0.039 1

20

-0.033

Atiase(1985), Potter (1982)

4

[04]

4.4
[ 20]

50



51

Jimbalvo,
Noreen and Shevlin (1997)  Lev and Thaigarajan (1993)

(CPAI)
45
014
05
0.293

45



W43

(N=420)
1 CAR= 0+ ICEARN + 2CPAIlt SIZE +et
Dependent Variable CPAI

Independent Variable CAR(-140)  CAR(-40) CAR(L1) CAR(04) CAR(0S) CAR(S) CAR(07) CAR(08) CAR(09) CAR(0I0) CAR(01)  CAR(0,12)

Constant -0.001 -0.017 -0.030 0.008 0.037 0.025 0.018 0.017 0.031 0.041 0.048 0.027
0.984 0.368 0.107 0.726 0.162 0.341 0.495 0.522 0.266 0.147 0.095 0.340

CEARN 0.002 0.015 0.033* 0.052* 0.053* 0.059* 0.050% 0.055* 0.057* 0.062* 0.056* 0.062*
0.853 0.026 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000

CPAI -0.127 0.111 -0.079 -0.106 -0.127 -0.156 -0.156 -0.163 -0.132 -0.139 -0.149 0.184*
0.161 0.052 0.174 0.130 0.115 0.066 0.063 0.059 0.142 0.125 0.106 0.047

SIZE 0.005 0.005 0.009 -0.003 -0.012 -0.009 -0.007 -0.006 -0.01 -0.013 -0.015 -0.009
0.600 0.366 0.120 0.694 0.146 0.273 0.414 0.453 0.254 0.14 0.096 0.343

R2 0.005 0.021 0.016 0.046 0.043 0.051 0.040 0.044 0.042 0.050 0.045 0.048
adjust R2 -0.002 0.014 0.054 0.039 0.036 0.044 0.033 0.036 0.035 0.043 0.038 0.041

* 95%



43( )

(N=£420)
1 CAR = 0+h,CEARNI+ b2CPAIt+et
Dependent Variable CPAI

Independent Variable ~ CAR(013) CAR(014) CAR(0,15) CAR(016) CAR(017) CAR(018) CAR(0,19) CAR(020) CAR(021) CAR(022) CAR(023) CAR(0,24)

Constant 0.028 0.028 0.039 0.049 0.071 0.071 0.082 0.100 0.109 0.116 0.120 0.071
0.343 0.327 0.215 0.123 0.036 0.037 0.019 0.005 0.004 0.003 0.003 0.039

CEARN 0.070* 0.074* 0.079* 0.075* 0.096* 0.094* 0.096* 0.095* 0.107* 0.103* 0.101* 0.094*
0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000

CPAI -0.180* -0.204* -0.215* -0.223* -0.237* -0.255* -0.215* -0.229* -0.273* -0.263* -0.263* -0.206*
0.050 0.020 0.025 0.023 0.030 0.022 0.057 0.047 0.026 0.038 0.046 0.049

SIZE -0.008 -0.007 -0.011 -0.014 -0.020 -0.019 -0.023* -0.028* -0.031* -0.033 -0.035* -0.019
0.380 0.471 0.266 0.186 0.065 0.079 0.043 0.014 0.013 0.009 0.008 0.089

R2 0.054 0.065 0.064 0.059 0.082 0.078 0.077 0.078 0.086 0.08 0.074 0.074
adjust R2 0.047 0.058 0.057 0.052 0.075 0.071 0.070 0.072 0.080 0.073 0.067 0.067

95%



44

(N=222)
1 CAR= 0+bCEARNI1+ 2CPAIl+et
Dependent Variable CPAI

Independent Variable CAR(-140)  CAR(-40) CAR(-LI) CAR(04) CAR(05) CAR(0S) CAR(07) CAR(08) CAR(09) CAR(0,10) CAR(0,1)  CAR(0,12)

Constant 0.021 -0.014 -0.011 -0.014 0.013 0.005 0.003 0.000 0.013 0.013 0.020 0.005
0.552 0.515 0.65 0.616 0.716 0.894 0.942 0.991 0.750 0.752 0.622 0.910

CEARN 0.008 0.018* 0.026* 0.047* 0.035* 0.041* 0.033 0.038* 0.039 0.042* 0.032 0.039*
0.592 0.034 0.005 0.001 0.049 0.024 0.074 0.050 0.055 0.039 0.122 0.06

CPAI -0.248 -0.153 -0.100 0.080 0.166 -0.041 -0.030 -0.033 0.080 0.095 0.123 -0.058
0.153 0.146 0.378 0.551 0.324 0.847 0.893 0.888 0.741 0.697 0.617 0.813

SIZE 0.001 0.005 0.004 0.002 -0.007 -0.003 -0.003 -0.002 -0.006 -0.006 -0.008 -0.001
0.921 0.503 0.604 0.827 0.496 0.792 0.81 0.89 0.648 0.608 0.513 0.905

R2 0.010 0.029 0.037 0.053 0.026 0.024 0.015 0.018 0.019 0.022 0.015 0.017
adjust R2 -0.004 0.015 0.024 0.039 0.012 0.01 0.001 0.004 0.005 0.008 0.001 0.003

* 95%



440 )

(N=222)
1 CAR= 0+ ,CEARN + 2CPAI, .,
Dependent Variable CPAI

Independent Variable CAR(0,13) CAR(014) CAR(0,15) CAR(016)  CAR(0L7)  CAR(018) CAR(0,19)  CAR(020)  CAR(021)  CAR(0,22) CAR(023) CAR(0,24)

Constant -0.004 -0.001 0.014 0.021 0.063 0.061 0.087 0.107 0.108 0.102 0.113 0.053
0.918 0.968 0.757 0.634 0.187 0.213 0.075 0.032 0.038 0.064 0.044 0.271

CEARN 0.032 0.044* 0.056* 0.047* 0.059* 0.059* 0.053* 0.046 0.044 0.030 0.025 0.057*
0.134 0.019 0.016 0.041 0.015 0.020 0.034 0.068 0.098 0.281 0.377 0.022

CPAI -0.011 0.007 0.007 0.051 0.001 -0.041 0.039 0.064 0.065 0.249 0.307 0.107
0.955 0.97 0.974 0.812 0.997 0.891 0.897 0.211 0.837 0.459 0.368 0.647

SIZE 0.001 0.002 -0.005 -0.007 -0.019 -0.018 -0.027 -0.033* -0.033* -0.033* -0.038* -0.016
0.96 0.892 0.741 0.607 0.193 0.237 0.078 0.033 0.042 0.050 0.029 0.275

R2 0.010 0.026 0.027 0.021 0.034 0.031 0.035 0.036 0.032 0.027 0.031 0.031
adjust R2 -0.003 0.012 0.014 0.007 0.021 0.017 0.021 0.023 0.018 0.013 0.018 0.017

* 95%



45

(N=199)
1 CAR= 0+ ICEARN, + h2CPAI,+e,
Dependent Variable CPAI

Independent Variable CAR(-140)  CAR(-40) CAR(L1) CAR(04) CAR(D5) CAR(06) CAR(07) CAR(08) CAR(09) CAR(0,10) CAR(011)  CAR(0.12)

Constant -0.021 -0.017 -0.051 0.019 0.040 0.035 0.022 0.024 0.033 0.053 0.055 0.039
0.679 0.594 0.105 0.634 0.339 0.400 0.577 0.547 0.433 0.213 0.198 0.372

CEARN -0.001 0.013 0.039* 0.055* 0.070* 0.078* 0.068* 0.072* 0.076* 0.082* 0.082* 0.085*
0.94 0.212 0.000 0.008 0.002 0.000 0.001 0.001 0.001 0.000 0.000 0.000

CPAI -0.208 -0.079 -0.091 -0.158 -0.237 -0.211 -0.195 -0.199 -0.207 -0.185 -0.23 -0.244
0.169 0.416 0.335 0.177 0.058 0.092 0.102 0.101 0.102 0.147 0.074 0.065

SIZE 0.008 0.006 0.015 -0.007 -0.015 -0.014 -0.009 -0.01 -0.013 -0.018 -0.02 -0.015
0.614 0.54 0.123 0.584 0.255 0.278 0.456 0.444 0.339 0.177 0.147 0.294

R2 0.011 0.013 0.082 0.046 0.074 0.081 0.068 0.073 0.075 0.085 0.090 0.088
adjust R2 -0.005 -0.003 0.068 0.031 0.06 0.066 0.053 0.058 0.06 0.070 0.075 0.073

95%



Independent Variable

Constant

CEARN

CPAI

SIZE

R2

adjust R2

CAR(0,13)

0.048
0.289
0.11*
0.000
-0.208
0.126
-0.016
0.283
0.115

0.101

CAR(0,14)

0.041
0.383
0.105*
0.000
-0.293*
0.038
-0.013
0.368
0.109
0.094

95%

CAR(0,15)

0.046
0.310
0.102*
0.000
-0.319*
0.020
-0.016
0.271
0.115
0.101

1

CAR(0,16)

0.058
0.229
0.103*
0.000
-0.309*
0.032
-0.018
0.245
0.107

0.093

45 )

N= 199)

CAR = 0+b,CEARNI1+ 2CPAIltet

CAR(0.17)

0.060
0.241
0.135*
0.000
-0.294
0.055
-0.018
0.275
0.138
0.124

Dependent Variable CPAI

CAR(0,18)

0.065
0.200
0.132*
0.000
-0.283
0.064
-0.018
0.272
0.132
0.118

CAR(0,19)

0.056
0.296
0.143*
0.000
-0.263*
0.099
-0.015
0.373
0.135
0.121

CAR(0,20)

0.069
0.201
0.146*
0.000
-0.286
0.076
-0.019
0.272
0.141

0.127

CAR(0,21)

0.083
0.158
0.174*
0.000
-0.335*
0.056
-0.023
0.219
0.164

0.151

CAR(0,22)
0.090
0.122
0.180*
0.000

-0.346*
0.048
-0.026
0.161
0.176
0.163

CAR(0,23)
0.085
0.172
0.181*
0.000
-0.360
0.053
-0.025
0.211
0.161
0.147

CAR(0,24)
0.065
0.200
0.132*
0.000
-0.283
0.064
-0.018
0.272
0.132

0.118



46

GSALE = (+b1CPAIL+e,

Dependent Variable
Independent Variable GSALE
Constant 0.282*
(0.000)
CPA 2052
(0.048)
N 420
R2 0.009
adjust R2 0.007

CEARN = h0+ b, GSALE 1 +e,

Dependent Variable
Independent Variable CEARN
Constant 0.09%*
(0.001)
GSALE 0.044*
(0.046)
N 40
R2 0.008
adjust R2 0.005

* 95%



1

[l 1'1]

59

CAR = 0+ :CEARN + CWIP} sSIZE:+e,

48
14 0,14] 4 04
4 [40]
95% (P-value < .05)
0.073,0.056, 0.034,0.041



60

' ' Jimbalvo,
Noreen and Shevlin (1997)  Levand Thaigarajan (1993)
(CWIP)
48
48
20 [,20]
95%(P-value < .05) -0.028

Atiase(1985), Potter (1982)

49

95% (P-value < .05)



61

49
A [ 2

9596(P-value < .05) 0.036

Atiase(1985), Potter (1982)

4.10 14
[14,0] 4 04 1 [
4 [40]
95% (P-value < .05) '
0.112 ,0.086, 0.052, 0.053

Jimbalvo,
Noreen and Shevlin (1997)  Lev and Thaigarajan (1993)



4.10

(CWIP)

4.1

NA

NA

NA

62

4.10



48

N=315
2 CAR= O+hICEARNL+ 2CWIPH SIZE +¢,

Dependent Variable CWIP

Independent Variable CAR(-140)  CAR(-40) CAR(-11) CAR(04) CAR(05) CAR(06) CAR(0,7) CAR(0,8) CAR(09) CAR(0,10) CAR(011)  CAR(0,12)

Constant

0.011 -0.003 -0.021 0.000 0.038 0.035 0.023 0.024 0.044 0.039 0.059 0.026

0.764 0.9 0.366 0.986 0.222 0.259 0.454 0.463 0.189 0.168 0.082 0.365

CEARN -0.004 0.041* 0.034* 0.056* 0.056* 0.063* 0.051* 0.058* 0.062* 0.061* 0.058* 0.061*

0.823 0.001 0.000 0.000 0.001 0.000 0.002 0.001 0.000 0.000 0.001 0.000

CWIP -0.367 -0.116 -0.046 -0.339 -0.61 -0.474 -0.605 -0.412 -0.447 -0.099 -0.487 -0.147

0.367 0.649 0.858 0.269 0.083 0.176 0.082 0.252 0.232 0.251 0.199 0.094

SIZE 0.002 0.000 0.006 0.001 -0.012 -0.012 -0.008 -0.009 -0.014 -0.013 -0.019 -0.008

0.851 0.954 0.391 0.954 0.225 0.228 0.407 0.411 0.195 0.168 0.083 0.383

R2 0.003 0.039 0.063 0.053 0.055 0.06 0.046 0.047 0.053 0.046 0.051 0.044

adjust R2 -0.007 0.03 0.054 0.004 0.045 0.051 0.037 0.037 0.043 0.039 0.042 0.037

* 95%



Independent Variable

Constant

CEARN

CWIP

SIZE

R2

adjust R2

CAR(0,13)
0.034
0.339
0.065*
0.000
-0.385
0.333
0011
0.338
0.047

0.038

CAR(0,14)

0.028
0.408
0.073*
0.000
-0.473
0.208
-0.007
0.541

0.063

0.053

, 95%

48( )

(N=315)
2 CAR= 0+ ICEARN,* b2CWIP+ SIZE +e,
Dependent Variable CWIP

CAR(0,15) CAR(016) CAR(017) CAR(0,18) CAR(018) CAR(0,20) CAR(021)

0.037 0.046 0.075 0.074 0.082* 0.101* 0.12*
0.327 0.223 0.065 0.073 0.05 0.018 0.008
0.074* 0.068* 0.093* 0.093* 0.100* 0.096* 0.111*
0.000 0.001 0.000 0.000 0.000 0.000 0.000
-0.542 -0.629 -0.494 -0.56 -0.627 -0.685 -0.411
0.195 0.14 0.275 0.224 0.180 0.148 0.418
-0.01 -0.013 -0.021 -0.02 -0.023 -0.028* -0.034*
0.386 0.296 0.104 0.132 0.095 0.041 0.020
0.056 0.05 0.075 0.073 0.082 0.082 0.089
0.047 0.041 0.066 0.064 0.073 0.043 0.08

CAR(0,22)
0.128*
0.006
0.102*
0.000
-0.416
0.428
0,038
0.013
0.077

0.068

CAR(0,23)
0.142*
0.004
0.098*
0.000
0.442
0.422
0.042*
0.008
0.071

0.062

CAR(0,24)
0.158*
0.002
0.093*
0.000
-0.325
0.568
-0.05*
0.003

0.07
0.061



Independent Variable

Constant

CEARN

Cwip

SIZE

R2

adjust R2

CAR(-14,0)

-0.017

0.674

-0.001

0.974

0.015

0.978

0.010

0.443

0.003

-0.014

95%

CAR(-40)
0.027
0.415
0.027
0.146
021
0.623
-0.009
0.404
0.018

0.001

2

CAR(-L1)
0.021
0.462
0.004
0.719
0121
0.746
-0.007
0.424
0.005

-0.012

49

(N=181)

CAR = 0+h ICEARNL+ h2CWIP + SIZE +¢,

Dependent Variable CWIP

CAR(0.4)
0.004
0911
0.019
0.334
-0.084
0.853
-0.004
0.724
0.006

-0.01

CAR(0,5)
0.044
0.324
0031
0.222
-0.465
0.427
0.017
0.224
0.021

0.004

CAR(0.6)
0.035
0.445
0.028
0.268
-0.379
0.525
-0.014
033
0.015

-0.002

CAR(0,7)
0.028
0.544
0.021
0.409
-0.475
0.435
0.012
0.416
0011

-0.006

CAR(08)
0.043
0.368
0.023
039
-0.399
0522
-0.015
0.299
0.013

-0.004

CAR(0,9)
0.06
0.216
0.022
0.429
-0.370
0.563
-0.020
0.183
0.015

-0.001

CAR(0,10)
0.006
0.879
0.040
0.048
0.186
0328
-0.005
0.692
0.025

0.011

CAR(0,11)
0.062
0.202
0.026
0.337
0.412
0518
0.022
0.157
0.019

0.022

CAR(0,12)
-0.003
0.942
0.037
0.072
0.056
0.771
0.000
0.997
0.016

0.002



Independent Variable

Constant

CEARN

Cwip

SIZE

R2

adjust R2

CAR(0,13)
0.019
0.697
0.025
0.355
025
0.698
-0.008
0.605
0.008

-0.009

CAR(0,14)

0.01
0.825
0.024

0.333

-0.268

0.646

-0.002

95%

0.862

0.007

-0.01

CAR(0,15)

0.033
0.512
0.02
0.473
-0.423
0.525
-0.011
0.486
0.008
-0.009

49)

(N=181)

2 CAR=hd+ ICEARNL+ b2CWIP,+ SIZE +et

CAR(0,16)

0.039
0.449
0.014
0.634
-0.524
0.444
-0.013
0.44
0.008
-0.009

CAR(0,17)

0.081
0.143
0.023
0.464
-0.617
0.394
-0.024
0.172
0.017

0.001

Dependent Variable CWIP

CAR(0,18)

0.083
0.135
0.018
0.556
-0.642
0.376
-0.024
0.169
0.017

0.000

CAR(0,19)

0.087
0.122
0.012
0.692
-0.626
0.394
-0.025
0.15
0.016

-0.001

CAR(0,20)

0.099
0.078
0.014
0.663
-0.689
0.352
-0.029
0.097
0.02
0.004

CAR(0,21)
0.117
0.043
0.006
0.857
-0.364
0.632
-0.036*
0.048
0.023

0.006

CAR(0,22)
0.108
0.066
-0.002
0.949
-0.385
0.617
-0.034
0.068
0.019
0.003

CAR(0,23)
013
0.037
0.024
0.488
-0.336
0.68
0.04%
0.038
0.026
0.01

CAR(0,24)
0.129
0.031
-0.019
0.569
0.164
0.833
0.042*
0.024
0.03
0.013



4.10

(N = 134)
2 CAR = b0+ ,CEARNL+ 2CWIP+SIZE+e,

Dependent Variable CWIP

Independent Variable CAR(-140)  CAR(-40) CAR(-L1) CAR(0,4) CAR(05) CAR(06) CAR(0,]) CAR(08) CAR(09) CAR(0,10)  CAR(0,11)  CAR(0,12)

Constant 0.028 -0.042 -0.063 0.000 0.046 0.049 0.025 0.004 0.026 0.053 0.066 0.039
0.691 0.233 0.114 0.999 0.335 0.282 0.565 0.926 0.594 0.213 0.198 0.372

CEARN -0.006 0.053 0.052 0.086 0.077 0.091 0.075 0.087 0.096 0.082 0.083 0.085
0.834 0.001* 0.000* 0.000* 0.000* 0.000* 0.000* 0.000* 0.000* 0.000* 0.000* 0.000*

CWIP -0.805 -0.230 0.104 0.291 0.289 0.265 -0.051 -0.101 -0.154 -0.185 0.122 -0.244
0.42 0.64 0.857 0.666 0.669 0.681 0.934 0.875 0.822 0.147 0.865 0.065

SIZE -0.005 0.012 0.022 0.005 -0.009 -0.012 -0.005 0.000 -0.006 -0.018 -0.017 -0.015
0.826 0.255 0.084 0.726 0.563 0.397 0.711 0.985 0.688 0.177 0.276 0.294

R2 0.006 0.094 0.17 0.12 01 0.147 0.112 0.131 0.141 0.085 0.109 0.088
adjust R2 -0.017 0.073 0.151 0.09 0.079 0.128 0.091 0.11 0.121 0.07 0.088 0.073

* ) 95%



410 ()

(N = 134)
2 CAR = 0+ b1CEARN1+ 2CWIPL+ SIZE +e,
Dependent Variable CWIP

Independent Variable ~ CAR(0,13) CAR(0,14) CAR(0,15) CAR(0,16) CAR(0,L7)  CAR(0,18) CAR(0,19) CAR(0,20) CAR(021) CAR(022) CAR(0,23) CAR(0,24)

Constant 0.064 0.055 0.053 0.072 0.091 0.087 0.098 0.130 0.155 0.192 0.186 0.219
0.254 0.322 0.383 0.235 0.158 0.192 0.141 0.057 0.040 0.017 0.025 0.019

CEARN 0.097 0.112 0.118 0.112 0.15 0.153 0.17 0.163 0.197 0.185 0.197 0.184
0.000* 0.000* 0.000* 0.000* 0.000* 0.000* 0.000* 0.000* 0.000* 0.000* 0.000* 0.000*

CwiIp 0.304 -0.012 0.161 0.290 0.471 0.482 0.414 0.625 1.157 1.358 1.001 0.897
0.703 0.988 0.849 0.735 0.603 0.606 0.659 0.516 0.275 0.277 0.388 0.492

SIZE -0.017 -0.013 -0.012 -0.016 -0.022 -0.019 -0.023 -0.031 -0.037 -0.049 -0.049 -0.064
0.338 0.459 0.538 0.400 0.273 0.357 0.279 0.149 0.113 0.049 0.057 0.029

R2 0.116 0.149 0.140 0.129 0.192 0.188 0.221 0.205 0.239 0.209 0.214 0.171
adjust R2 0.095 0.129 0.120 0.108 0.174 0.169 0.203 0.187 0.221 0.191 0.196 0.152

* 95%
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